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Accuracy: 51% Rate: 7/min

Missed Questions

(1b)(-1b) = -1b2
(1b)(-1b) = -1b2
(-6a)(-3a) = 18a2
(2y)(-5y) = -10y*
(2y)(-5y) = -10y*
(-7a)(5) = -35a

Nicolle

MariGOMEZ

P. OneDrive

Capturas de pantalla guardadas.
PLAY AGAIN . La captura de pantalla se agreg6 a

tu OneDrive.

#8 O Escribe aqui para buscar
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Accuracy:71% Rate: 11/min

Missed Questions

(-2y)(-4y) = 8y*
(7a)(-8a) = -56a2
(-4a)(-6) = 24a

(4)(-6a) = -24a
(8b)(8b) = 64b?
(8b)(8b) = 64b?
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P OneDrive

Capturas de pantalla guardadas
PLAY AGAIN . La captura de pantalla se agrega a

tu OneDrive.
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